13-Lesson 14

1. Rearrange the terms so that you can add or subtract mentally, and then solve.

5 The associative property allows me to rearrange these
3 terms so that | can add the like units first.

b. 83——25—1%1““3 :(3§M§)~(23+ 3_5)

4 4 4 5 5
e N = 8-33
This expression has 5 5 1 N
fourths and fifths, | _s_ 3 Subtracting 2 s and then subtracting 1 s the same as
can use the 5 subtracting 35;1 all at once.
associative property 2
fo rearrange the like = 4};
units together. /
i N
2. Fillin the blank to make the statement true. In order to add fourths and thirds, | need a
commaon unit. | can refiame both fractions as
twelfths. )
1, .2 1 )
a. 3 E +2 E + 3 EE =0 .
11 h
| could solve this by subtracting 5~ from 9; but
3 2 5 + 11 12
3o-+2— : i : m 550
iz P — \_I m going to count on from 5 15 Instead. )
5=+ =9 '
1% i 5 needs — more to make 6. And then, 6
iz -

needs 3 more to make 9. So, 5 1‘—~ +3 é =9,

+= :
+3
5—1_-{ 12 >6 > 9
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//‘When | look at this equation, | think, “There is sorme number that, when | subtract\\

2 % and 15 from it, there is still 17% remaining.” This helps me to visualize a tape
diagram like this:
some number (?)
A
f 1
1 1
25 15 17
{ i 11 ]
¥ H H
part part part remaining

/

3 1 o1 Therefore, if | add together these 3 parts, |
b. 34§ 2 2 15=17 4 % can find out what that missing number is.
2 415 +172 )
2 + 4 i can add the whole numbers and then add
— 244 @ J‘«% the fractions, )
=342 - . 2 B
4 ~, | can.rename S as Z_in my head in order to add
like units.
Y.
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